

# $\label{eq:FRACTIONAL} \exp\left(-\phi\left(\xi\right)\right) - \text{EXPANSION METHOD AND ITS APPLICATION TO} \\ \text{SPACE-TIME NONLINEAR FRACTIONAL EQUATIONS}$

ALAAEDDIN AMIN MOUSSA AND LAMA ABDULAZIZ ALHAKIM

Received 10 March, 2020; accepted 30 August, 2020; published 15 October, 2020.

DEPARTMENT OF MANAGEMENT INFORMATION SYSTEM AND PRODUCTION MANAGEMENT, COLLEGE OF BUSINESS AND ECONOMICS, QASSIM UNIVERSITY, P.O. BOX 6666, BURAIDAH: 51452, SAUDI ARABIA. Alaamath81@gmail.com

URL: https://scholar.google.com/citations?user=ccztZdsAAAAJ&hl=ar

DEPARTMENT OF MANAGEMENT INFORMATION SYSTEM AND PRODUCTION MANAGEMENT, COLLEGE OF BUSINESS AND ECONOMICS, QASSIM UNIVERSITY, P.O. BOX 6666, BURAIDAH: 51452, SAUDI ARABIA. Lama2736@qmail.com

URL: https://scholar.google.com/citations?user=OSiSh1AAAAAJ&hl=ar

ABSTRACT. In this paper, we mainly suggest a new method that depends on the fractional derivative proposed by Katugampola for solving nonlinear fractional partial differential equations. Using this method, we obtained numerous useful and surprising solutions for the space–time fractional nonlinear Whitham–Broer–Kaup equations and space–time fractional generalized nonlinear Hirota–Satsuma coupled KdV equations. The solutions obtained varied between hyperbolic, trigonometric, and rational functions, and we hope those interested in the real-life applications of the previous two equations will find this approach useful.

Key words and phrases: Fractional  $\exp(-\phi(\xi))$  – expansion method; Space–time fractional nonlinear Whitham–Broer–Kaup equations; Space–time fractional generalized nonlinear Hirota–Satsuma coupled KdV equations.

2010 Mathematics Subject Classification. 35R11, 35E05.

ISSN (electronic): 1449-5910

<sup>© 2020</sup> Austral Internet Publishing. All rights reserved.

#### 1. INTRODUCTION

Mathematics has long been allied with physics, and while physicists have been studying and modelling various phenomena, mathematicians have been engaged in finding appropriate methods to obtain solutions to earlier mathematical models. Once we obtain such solutions, they are used to explain the original phenomenon from which they originated and to find possible realistic solutions. There are numerous physical phenomena, and we can model some of them in the form of nonlinear partial differential equations, and thus the methods for solving these equations have gained significant importance for those interested in this field. In addition, many effective and direct methods for generating analytical solutions to nonlinear partial differential equations been developed, such as the  $\left(\frac{G'}{G}\right)$  expansion method [1, 2], double auxiliary equations method [3, 4], generalized exp $\left(-\phi\left(\xi\right)\right)$  – expansion method [5, 6],  $\operatorname{coth}_{a}\left(\xi\right)$  expansion method [7], F – expansion method [8, 9], and others [10, 11, 12]. Several definitions of what is now known as the fractional derivative have emerged, such as the Riemann-Liouville fractional derivative, Caputo fractional derivative, and Atangana-Baleanu derivative. Using these derivatives, physicists have been able to study numerous important phenomena in the form of nonlinear fractional partial differential equations (NFPDEs). By contrast, numerous effective methods have been found to solve these equations, such as the modified extended tanh-function method and fractional sub-equation method proposed by Zhang and Zhang [13], which was developed later by Wangi and Xu [14]. The previous methods depend on the following definition of a modified Riemann-Liouville fractional derivative, which was proposed by Jumarie [15, 16, 17]:

(1.1) 
$$f^{(\alpha)}(t) = \frac{1}{\Gamma(1-\alpha)} \frac{d}{dt} \int_0^t (t-x)^{-\alpha} \left(f(x) - f(0)\right) dx.$$

Numerous formulas have been provided by Jumarie, including the following rule (chain rule), which has mainly been used in two previous methods:

(1.2) 
$$(f(u(t)))^{(\alpha)} = f'_u u^{(\alpha)}(t)$$

However, Liu surprisingly published articles (counterexamples of Jumarie's basic fractional calculus formulae) in which the author outlined the invalidity of the previous chain rule, through which the corresponding results on differential equations were shown to be untrue [18, 19]. The findings by Liu led us to search for a new definition of a fractional derivative that satisfies the product, quotient, and chain rules for obtaining the exact traveling wave solutions for nonlinear fractional partial differential equations. Indeed, we found an extremely interesting definition of the fractional derivative proposed by Katugampola [20], which satisfies all of the previous rules, particularly the chain rule. Using this definition, we suggested a new method called the new fractional  $\exp(-\phi(\xi))$  – method for obtaining novel and more general exact traveling wave solutions for nonlinear fractional partial differential equations. In [21], the authors applied a modified extended tanh-function method for solving the space-time fractional nonlinear Whitham–Broer-Kaup equations, and space–time fractional generalized nonlinear Hirota–Satsuma coupled KdV equations, and because all of these solutions are incorrect, we applied our proposed method to solve the previous equations and thereby demonstrated the effectiveness and strength of the method, providing others with correct solutions, which were checked using Maple. The remainder of this paper is organized as follows: Section 2 provides some definitions and properties of the fractionals calculus proposed by Katugampola, and describes the fractional  $\exp(-\phi(\xi))$  – expansion method. Section 3 describes the application of this method to solving the space-time fractional nonlinear Whitham-Broer-Kaup equations, whereas Section 4 describes its application to solving the space-time fractional generalized nonlinear Hirota–Satsuma coupled KdV equations. Finally, Section 5 provides some concluding remarks regarding this research.

# 2. Description of the fractional $\exp(-\phi(\xi))$ – expansion method for solving nonlinear fractional partial differential equations

In this section, we present the basic definition of the fractional derivative presented by Katugampola [20], and the most important rules related to this definition, from which the proposed approach has benefited.

**Definition 2.1.** Let  $f : [0, \infty) \to \mathbb{R}$  and t > 0. The *fractional derivative* of f of order  $\alpha$  is defined as follows:

(2.1) 
$$D^{\alpha}(f)(t) = \lim_{\varepsilon \to 0} \frac{f\left(te^{\varepsilon t^{-\alpha}}\right) - f(t)}{\varepsilon},$$

for all  $t > 0, \alpha \in (0, 1]$ . If f is  $\alpha$ -differentiable in some (0, a), a > 0, and  $\lim_{t\to 0^+} D^{\alpha}(f)(t)$  exist, then define the following:

(2.2) 
$$D^{\alpha}(f)(0) = \lim_{t \to 0^{+}} D^{\alpha}(f)(t).$$

The following theorem is the main result of the previous definition:

**Theorem 2.1.** Let  $\alpha \in (0, 1]$  and f, g be  $\alpha$ - differentiable at a point t > 0. Then, *i*.  $D_t^{\alpha} (af + bg) (t) = a D_t^{\alpha} f(t) + b D_t^{\alpha} g(t)$ , for all  $a, b \in \mathbb{R}$ . *ii*.  $D_t^{\alpha} (t^n) = nt^{n-\alpha}$ , for all  $n \in \mathbb{R}$ . *iii*.  $D_t^{\alpha} (c) = 0$ , for all constant functions f(t) = c. *iv*.  $D_t^{\alpha} (fg) (t) = D_t^{\alpha} f(t) g(t) + D_t^{\alpha} g(t) f(t)$ . *v*.  $D_t^{\alpha} \left(\frac{f}{g}\right) (t) = \frac{D_t^{\alpha} f(t) g(t) - D_t^{\alpha} (g) f(t)}{g(t)^2}$ . *vi*.  $D_t^{\alpha} (f \circ g) (t) = D_g^{\alpha} f(g(t)) D_t^{\alpha} g(t)$ . *vii*.  $D_t^{\alpha} \left(\frac{1}{\alpha} t^{\alpha}\right) = 1$ . The main steps of the new fractional  $\exp\left(-\phi\left(\xi\right)\right)$  – expansion method are described as

follows: Step 1. It is assumed that a nonlinear fractional partial differential equation, i.e., in the

Step 1. It is assumed that a nonlinear fractional partial differential equation, i.e., in the independent variables x and t, is given as follows:

(2.3) 
$$F(u, u_t, u_x, D_t^{\alpha} u, D_x^{\alpha} u, ...) = 0, \qquad 0 < \alpha \le 1,$$

where u = u(x, t) is an unknown function, F is a polynomial in u = u(x, t), and their various partial derivatives including fractional derivatives,  $D_t^{\alpha}u$  and  $D_x^{\alpha}u$  are Katugampola's fractional derivative.

**Step 2.** The traveling wave transformation is used:

(2.4) 
$$u(x,t) = U(\xi) , \quad \xi = \left(\frac{k_1}{\alpha}\right) x^{\alpha} + \left(\frac{k_2}{\alpha}\right) t^{\alpha},$$

where  $k_1, k_2$  are arbitrary constants to be determined later, the nonlinear FDE (2.3) is reduced to an nonlinear fractional ordinary differential equation for  $U = U(\xi)$  in the following form:

(2.5) 
$$P\left(U, D_{\xi}^{\alpha}U, D_{\xi}^{2\alpha}U, D_{\xi}^{3\alpha}U, ...\right) = 0.$$

**Step 3.** By balancing the highest derivatives and nonlinear terms in Eq. (2.5), and using the following relationship, the value of the positive integer (m) is determined:

(2.6) 
$$Degree\left[U^p\left(\frac{d^q U}{d\xi^q}\right)^s\right] = mp + s\left(m+q\right),$$

Step 4. It is assumed that the solution to Eq. (2.5) can be expressed as follows:

(2.7) 
$$U(\xi) = \sum_{i=-m}^{m} l_i \left( \exp\left(-\phi\left(\xi\right)\right) \right)^i,$$

where  $l_i$  (i = -m, ..., m) are constants to be determined, such that  $l_i \neq 0$  and  $\phi(\xi)$  satisfy the following fractional differential equation:

(2.8) 
$$D_{\xi}^{\alpha}\phi\left(\xi\right) = \exp\left(-\phi\left(\xi\right)\right) + \mu\exp\left(\phi\left(\xi\right)\right)\lambda.$$

Fortunately, Eq. (2.8) allows several of the following types of solutions: Family 1. When  $\mu \neq 0, (\lambda^2 - 4\mu) > 0$ ,

(2.9) 
$$\phi_1(\xi) = \ln\left(\frac{-\lambda - \sqrt{\lambda^2 - 4\mu} \tanh\left(\frac{(\xi^{\alpha} + \alpha c)\sqrt{\lambda^2 - 4\mu}}{2\alpha}\right)}{2\mu}\right), c \in \mathbb{R}.$$

Family 2. When  $\mu \neq 0, (\lambda^2 - 4\mu) < 0,$ 

(2.10) 
$$\phi_2(\xi) = \ln\left(\frac{-\lambda + \sqrt{4\mu - \lambda^2} \tan\left(\frac{(\xi^{\alpha} + \alpha c)\sqrt{4\mu - \lambda^2}}{2\alpha}\right)}{2\mu}\right), c \in \mathbb{R}.$$

Family 3. When  $\mu = 0, \lambda \neq 0$ ,

(2.11) 
$$\phi_3(\xi) = \frac{\lambda}{\alpha} \left(\xi^{\alpha} + \alpha c\right) + \ln\left(\frac{1 - e^{-\frac{\lambda}{\alpha}(\xi^{\alpha} + \alpha c)}}{\lambda}\right), c \in \mathbb{R}.$$

Family 4. When  $\mu \neq 0, \lambda \neq 0, (\lambda^2 - 4\mu) = 0$ ,

(2.12) 
$$\phi_4(\xi) = \ln\left(-\frac{2}{\lambda} - \frac{4\alpha}{\lambda^2(\xi^\alpha + \alpha c)}\right), c \in \mathbb{R}.$$

Family 5. When  $\mu = 0, \lambda = 0$ ,

(2.13) 
$$\phi_5(\xi) = \ln\left(\frac{\xi^{\alpha} + \alpha c}{\alpha}\right), c \in \mathbb{R}.$$

Step 5. Substituting Eqs. (2.7) and (2.5) into Eq. (2.8), respectively, and setting all coefficients

of  $(\exp(-\phi(\xi)))^i$  of the resulting systems to zero, a system of algebraic equations for  $k_1, k_2$ and  $l_i$  (i = -m, ..., m) is yielded.

Step 6. By solving the algebraic equations obtained in Step 4, substituting  $k_1, k_2, l_i$  and the

solutions of Eq. (2.8) into Eq. (2.7), we immediately obtain the explicit solutions to Eq. (2.5).

### 3. EXACT SOLUTION TO SPACE-TIME FRACTIONAL NONLINEAR WHITHAM-BROER-KAUP EQUATIONS

In this section, we construct the exact solutions of the space-time fractional nonlinear Whitham-Broer-Kaup equations by using the fractional  $\exp(-\phi(\xi))$  – expansion method. These equations are well-known [21] and have the following forms:

$$D_t^{\alpha}u + uD_x^{\alpha}u + D_x^{\alpha}v + \beta D_x^{2\alpha}u = 0,$$

$$(3.2) D_t^{\alpha} v + D_x^{\alpha} (uv) - \beta D_x^{2\alpha} v + \gamma D_x^{3\alpha} u = 0,$$

where  $0 < \alpha \le 1, u$  and v are the functions of (x, t), and  $\gamma, \beta$  are constants. To solve Eqs. (3.1) and (3.2) using the proposed method, we utilize the following travelling wave transformations:

(3.3) 
$$u(x,t) = U(\xi) , v(x,t) = V(\xi) , \quad \xi = \left(\frac{k_1}{\alpha}\right) x^{\alpha} + \left(\frac{k_2}{\alpha}\right) t^{\alpha},$$

where  $k_1, k_2$  are constants. Eqs. (3.1) and (3.2) are carried into the following nonlinear fractional ordinary differential equations:

(3.4) 
$$\beta k_1^2 D_{\xi}^{2\alpha} U + k_1 U D_{\xi}^{\alpha} U + k_1 D_{\xi}^{\alpha} V + k_2 D_{\xi}^{\alpha} U = 0,$$

(3.5) 
$$\gamma k_1^3 D_{\xi}^{3\alpha} U - \beta k_1^2 D_{\xi}^{2\alpha} V + k_1 U D_{\xi}^{\alpha} V + k_1 V D_{\xi}^{\alpha} U + k_2 D_t^{\alpha} V = 0.$$

Balancing the highest-order derivatives and highest nonlinear terms in Eqs. (3.4) and (3.5), we have the following formal solutions:

(3.6) 
$$U(\xi) = \alpha_0 + \alpha_1 \exp\left(\phi\left(\xi\right)\right) + \alpha_2 \exp\left(-\phi\left(\xi\right)\right),$$

(3.7) 
$$V(\xi) = \beta_0 + \beta_1 \exp(\phi(\xi)) + \beta_2 \exp(-\phi(\xi)) + \beta_3 \exp(2\phi(\xi)) + \beta_4 \exp(-2\phi(\xi)),$$

where  $\alpha_i (i = 0, 1, 2), \beta_j (j = 0, 1, 2, 3, 4)$  are constants to be determined later. Substituting (3.6) and (3.7) along with Eq. (2.8) into Eqs. (3.4) and (3.5), the left-hand side is converted into polynomials in  $(\exp(-\phi(\xi)))^i$ ,  $(i = 0, \pm 1, \pm 2, ...)$ . By collecting each coefficient of these resulted polynomials to zero, we obtain a set of simultaneous algebraic equations, which are not presented herein for the sake of clarity, for  $\alpha_0, \alpha_1, \alpha_2, \beta_0, \beta_1, \beta_2, \beta_3, \beta_4, k_1$  and  $k_2$ . Solving these algebraic equations with the help of the algebraic software Maple, we obtain the following three cases:

Case 1

(3.8) 
$$\begin{cases} \alpha_0 = \left(\frac{\lambda k_1^2 (\beta^2 + \gamma) - k_2 \sqrt{\beta^2 + \gamma}}{k_1 \sqrt{\beta^2 + \gamma}}\right), \alpha_1 = \mu \alpha_2, \alpha_2 = 2k_1 \sqrt{\beta^2 + \gamma}, \\ k_1 = k_1, k_2 = k_2, \beta_0 = 0, \beta_1 = \lambda \beta_3, \beta_2 = \lambda \beta_4, \\ \beta_3 = -2\mu k_1^2 \left(\beta \sqrt{\beta^2 + \gamma} + \beta^2 + \gamma\right), \beta_4 = -2k_1^2 \left(-\beta \sqrt{\beta^2 + \gamma} + \beta^2 + \gamma\right). \end{cases}$$

Substituting Eq. (3.8) into Eqs. (3.6) and (3.7), we have the following:

$$(3.9) \begin{cases} U\left(\xi\right) = \left(\frac{\lambda k_1^2\left(\beta^2 + \gamma\right) - k_2\sqrt{\beta^2 + \gamma}}{k_1\sqrt{\beta^2 + \gamma}}\right) + 2k_1\sqrt{\beta^2 + \gamma}\left(\mu\exp\left(\phi\left(\xi\right)\right) + \exp\left(-\phi\left(\xi\right)\right)\right), \\ -2\mu k_1^2\left(\beta\sqrt{\beta^2 + \gamma} + \beta^2 + \gamma\right)\left(\lambda\exp\left(\phi\left(\xi\right)\right) + \exp\left(2\phi\left(\xi\right)\right)\right) \\ -2k_1^2\left(-\beta\sqrt{\beta^2 + \gamma} + \beta^2 + \gamma\right)\left(\lambda\exp\left(-\phi\left(\xi\right)\right) + \exp\left(-2\phi\left(\xi\right)\right)\right)\right), \\ \xi = \left(\frac{k_1}{\alpha}\right)x^{\alpha} + \left(\frac{k_2}{\alpha}\right)t^{\alpha}. \end{cases}$$

Case 2

(3.10) 
$$\begin{cases} \alpha_0 = \left(\frac{\lambda k_1^2 (\beta^2 + \gamma) - k_2 \sqrt{\beta^2 + \gamma}}{k_1 \sqrt{\beta^2 + \gamma}}\right), \alpha_1 = 0, \alpha_2 = 2k_1 \sqrt{\beta^2 + \gamma}, k_1 = k_1, k_2 = k_2, \\ \beta_0 = \mu \beta_4, \beta_1 = 0, \beta_2 = \lambda \beta_4, \beta_3 = 0, \beta_4 = 2k_1^2 \left(\beta \sqrt{\beta^2 + \gamma} - (\beta^2 + \gamma)\right). \end{cases}$$

Substituting (3.10) into (3.6) and (3.7), we have the following:

$$(3.11) \quad \begin{cases} U\left(\xi\right) = \left(\frac{\lambda k_1^2 \left(\beta^2 + \gamma\right) - k_2 \sqrt{\beta^2 + \gamma}}{k_1 \sqrt{\beta^2 + \gamma}}\right) + 2k_1 \sqrt{\beta^2 + \gamma} \exp\left(-\phi\left(\xi\right)\right), \\ V\left(\xi\right) = 2k_1^2 \left(\beta \sqrt{\beta^2 + \gamma} - (\beta^2 + \gamma)\right) \left(\mu + \lambda \exp\left(-\phi\left(\xi\right)\right) + \exp\left(-2\phi\left(\xi\right)\right)\right), \\ \xi = \left(\frac{k_1}{\alpha}\right) x^{\alpha} + \left(\frac{k_2}{\alpha}\right) t^{\alpha}. \end{cases}$$

Case 3

(3.12) 
$$\begin{cases} \alpha_0 = \left(\frac{\lambda k_1^2 (\beta^2 + \gamma) - k_2 \sqrt{\beta^2 + \gamma}}{k_1 \sqrt{\beta^2 + \gamma}}\right), \alpha_1 = 2\mu k_1 \sqrt{\beta^2 + \gamma}, \alpha_2 = 0, k_1 = k_1, k_2 = k_2, \\ \beta_0 = -2\mu k_1^2 \left(\beta \sqrt{\beta^2 + \gamma} + \beta^2 + \gamma\right), \beta_1 = \lambda \beta_0, \beta_2 = 0, \beta_3 = \mu \beta_0, \beta_4 = 0. \end{cases}$$

Substituting Eq. (3.12) into Eqs. (3.6) and (3.7), we have the following:

$$(3.13) \quad \begin{cases} U\left(\xi\right) = \left(\frac{\lambda k_1^2 \left(\beta^2 + \gamma\right) - k_2 \sqrt{\beta^2 + \gamma}}{k_1 \sqrt{\beta^2 + \gamma}}\right) + 2\mu k_1 \sqrt{\beta^2 + \gamma} \exp\left(\phi\left(\xi\right)\right), \\ V\left(\xi\right) = -2\mu k_1^2 \left(\beta \sqrt{\beta^2 + \gamma} + \beta^2 + \gamma\right) \left(1 + \lambda \exp\left(\phi\left(\xi\right)\right) + \mu \exp\left(2\phi\left(\xi\right)\right)\right), \\ \xi = \left(\frac{k_1}{\alpha}\right) x^{\alpha} + \left(\frac{k_2}{\alpha}\right) t^{\alpha}. \end{cases}$$

In particular, using (3.9) and the solution to Eq. (2.8), we can find the following exact solutions of the space–time fractional nonlinear Whitham–Broer–Kaup equations:

Family 1. When  $\mu \neq 0$ ,  $(\lambda^2 - 4\mu) > 0$ ,

$$\begin{cases} (3.14) \\ \begin{cases} U_{1}\left(\xi\right) = \begin{pmatrix} \left(\frac{\lambda k_{1}^{2}\left(\beta^{2}+\gamma\right)-k_{2}\sqrt{\beta^{2}+\gamma}}{k_{1}\sqrt{\beta^{2}+\gamma}}\right) - \left(\frac{4\mu k_{1}\sqrt{\beta^{2}+\gamma}}{\lambda+\sqrt{\lambda^{2}-4\mu} \tanh\left(\frac{\left(\xi^{\alpha}+\alpha c\right)\sqrt{\lambda^{2}-4\mu}}{2\alpha}\right)}\right) \\ -k_{1}\sqrt{\beta^{2}+\gamma}\left(\lambda+\sqrt{\lambda^{2}-4\mu} \tanh\left(\frac{\left(\xi^{\alpha}+\alpha c\right)\sqrt{\lambda^{2}-4\mu}}{2\alpha}\right)\right) \end{pmatrix} \\ -k_{1}\sqrt{\beta^{2}+\gamma}\left(\lambda+\sqrt{\lambda^{2}-4\mu} \tanh\left(\frac{\left(\xi^{\alpha}+\alpha c\right)\sqrt{\lambda^{2}-4\mu}}{2\alpha}\right)\right) \\ -\frac{k_{1}^{2}\left(\beta\sqrt{\beta^{2}+\gamma}+\beta^{2}+\gamma\right)}{2\mu}\left(\lambda+\sqrt{\lambda^{2}-4\mu} \tanh\left(\frac{\left(\xi^{\alpha}+\alpha c\right)\sqrt{\lambda^{2}-4\mu}}{2\alpha}\right)\right)^{2} \\ +\frac{4\lambda\mu k_{1}^{2}\left(-\beta\sqrt{\beta^{2}+\gamma}+\beta^{2}+\gamma\right)}{\lambda+\sqrt{\lambda^{2}-4\mu} \tanh\left(\frac{\left(\xi^{\alpha}+\alpha c\right)\sqrt{\lambda^{2}-4\mu}}{2\alpha}\right)} - \frac{8\mu^{2}k_{1}^{2}\left(-\beta\sqrt{\beta^{2}+\gamma}+\beta^{2}+\gamma\right)}{\left(\lambda+\sqrt{\lambda^{2}-4\mu} \tanh\left(\frac{\left(\xi^{\alpha}+\alpha c\right)\sqrt{\lambda^{2}-4\mu}}{2\alpha}\right)\right)^{2}} \\ \xi = \left(\frac{k_{1}}{\alpha}\right)x^{\alpha} + \left(\frac{k_{2}}{\alpha}\right)t^{\alpha}. \end{cases}$$

Family 2. When  $\mu \neq 0, (\lambda^2 - 4\mu) < 0$ ,

$$\begin{cases} (3.15) \\ U_{2}(\xi) = \begin{pmatrix} \left(\frac{\lambda k_{1}^{2} \left(\beta^{2} + \gamma\right) - k_{2} \sqrt{\beta^{2} + \gamma}}{k_{1} \sqrt{\beta^{2} + \gamma}}\right) + \frac{4\mu k_{1} \sqrt{\beta^{2} + \gamma}}{-\lambda + \sqrt{4\mu - \lambda^{2}} \tan\left(\frac{(\xi^{\alpha} + \alpha c)\sqrt{4\mu - \lambda^{2}}}{2\alpha}\right)} \\ + k_{1} \sqrt{\beta^{2} + \gamma} \left(-\lambda + \sqrt{4\mu - \lambda^{2}} \tan\left(\frac{(\xi^{\alpha} + \alpha c)\sqrt{4\mu - \lambda^{2}}}{2\alpha}\right)\right) \end{pmatrix} \right), \\ + k_{1} \sqrt{\beta^{2} + \gamma} \left(-\lambda + \sqrt{4\mu - \lambda^{2}} \tan\left(\frac{(\xi^{\alpha} + \alpha c)\sqrt{4\mu - \lambda^{2}}}{2\alpha}\right)\right) \right) \\ - \frac{\lambda k_{1}^{2} \left(\beta \sqrt{\beta^{2} + \gamma} + \beta^{2} + \gamma\right)}{2\mu} \left(-\lambda + \sqrt{4\mu - \lambda^{2}} \tan\left(\frac{(\xi^{\alpha} + \alpha c)\sqrt{4\mu - \lambda^{2}}}{2\alpha}\right)\right)^{2} \\ - \frac{4\lambda \mu k_{1}^{2} \left(-\beta \sqrt{\beta^{2} + \gamma} + \beta^{2} + \gamma\right)}{-\lambda + \sqrt{4\mu - \lambda^{2}} \tan\left(\frac{(\xi^{\alpha} + \alpha c)\sqrt{4\mu - \lambda^{2}}}{2\alpha}\right)} - \frac{8\mu^{2} k_{1}^{2} \left(-\beta \sqrt{\beta^{2} + \gamma} + \beta^{2} + \gamma\right)}{\left(-\lambda + \sqrt{4\mu - \lambda^{2}} \tan\left(\frac{(\xi^{\alpha} + \alpha c)\sqrt{4\mu - \lambda^{2}}}{2\alpha}\right)\right)^{2}} \\ \xi = \left(\frac{k_{1}}{\alpha}\right) x^{\alpha} + \left(\frac{k_{2}}{\alpha}\right) t^{\alpha}. \end{cases}$$

Family 3. When  $\mu = 0, \lambda \neq 0$ ,

$$\begin{cases} (3.16) \\ U_{3}(\xi) = \left(\frac{\lambda k_{1}^{2}(\beta^{2}+\gamma)-k_{2}\sqrt{\beta^{2}+\gamma}}{k_{1}\sqrt{\beta^{2}+\gamma}}\right) + 2k_{1}\sqrt{\beta^{2}+\gamma}\exp\left(\ln\left(\frac{\lambda}{1-e^{-\frac{\lambda}{\alpha}(\xi^{\alpha}+c\alpha)}}\right) - \frac{\lambda}{\alpha}(\xi^{\alpha}+c\alpha)\right), \\ V_{3}(\xi) = \left(\begin{array}{c} -2\lambda k_{1}^{2}\left(-\beta\sqrt{\beta^{2}+\gamma}+\beta^{2}+\gamma\right)\exp\left(\ln\left(\frac{\lambda}{1-e^{-\frac{\lambda}{\alpha}(\xi^{\alpha}+c\alpha)}}\right) - \frac{\lambda}{\alpha}(\xi^{\alpha}+c\alpha)\right)}{-2k_{1}^{2}\left(-\beta\sqrt{\beta^{2}+\gamma}+\beta^{2}+\gamma\right)\exp\left(\ln\left(\frac{\lambda}{1-e^{-\frac{\lambda}{\alpha}(\xi^{\alpha}+c\alpha)}}\right)^{2} - \frac{2\lambda}{\alpha}(\xi^{\alpha}+c\alpha)\right)}\right), \\ \xi = \left(\frac{k_{1}}{\alpha}\right)x^{\alpha} + \left(\frac{k_{2}}{\alpha}\right)t^{\alpha}. \end{cases}$$

Family 4. When  $\mu \neq 0, \lambda \neq 0, (\lambda^2 - 4\mu) = 0$ ,

$$(3.17)$$

$$\begin{cases}
U_4\left(\xi\right) = \left(\frac{\lambda k_1^2 \left(\beta^2 + \gamma\right) - k_2 \sqrt{\beta^2 + \gamma}}{k_1 \sqrt{\beta^2 + \gamma}}\right) - 2\mu k_1 \sqrt{\beta^2 + \gamma} \left(\frac{2}{\lambda} + \frac{4\alpha}{\lambda^2 (\xi^{\alpha} + \alpha c)}\right) - \frac{2k_1 \sqrt{\beta^2 + \gamma}}{\left(\frac{2}{\lambda} + \frac{4\alpha}{\lambda^2 (\xi^{\alpha} + \alpha c)}\right)}, \\
V_4\left(\xi\right) = \left(\frac{2\lambda \mu k_1^2 \left(\beta \sqrt{\beta^2 + \gamma} + \beta^2 + \gamma\right) \left(\frac{2}{\lambda} + \frac{4\alpha}{\lambda^2 (\xi^{\alpha} + \alpha c)}\right)}{-2\mu k_1^2 \left(\beta \sqrt{\beta^2 + \gamma} + \beta^2 + \gamma\right) \left(\frac{2}{\lambda} + \frac{4\alpha}{\lambda^2 (\xi^{\alpha} + \alpha c)}\right)^2}{\left(\frac{2}{\lambda} + \frac{4\alpha}{\lambda^2 (\xi^{\alpha} + \alpha c)}\right)^2}\right), \\
+ \frac{2\lambda k_1^2 \left(-\beta \sqrt{\beta^2 + \gamma} + \beta^2 + \gamma\right) \left(\frac{2}{\lambda} + \frac{4\alpha}{\lambda^2 (\xi^{\alpha} + \alpha c)}\right)^2}{\left(\frac{2}{\lambda} + \frac{4\alpha}{\lambda^2 (\xi^{\alpha} + \alpha c)}\right)^2}\right), \\
\xi = \left(\frac{k_1}{\alpha}\right) x^{\alpha} + \left(\frac{k_2}{\alpha}\right) t^{\alpha}.
\end{cases}$$

Family 5. When  $\mu = 0, \lambda = 0$ ,

(3.18) 
$$\begin{cases} U_5(\xi) = -\frac{k_2}{k_1} + 2k_1\sqrt{\beta^2 + \gamma} \left(\frac{\alpha}{\xi^{\alpha} + \alpha c}\right), \\ V_5(\xi) = -2k_1^2 \left(-\beta\sqrt{\beta^2 + \gamma} + \beta^2 + \gamma\right) \left(\frac{\alpha}{\xi^{\alpha} + \alpha c}\right)^2, \\ \xi = \left(\frac{k_1}{\alpha}\right) x^{\alpha} + \left(\frac{k_2}{\alpha}\right) t^{\alpha}. \end{cases}$$

Similarly, using cases 2 and 3 we can obtain more exact solutions of the space-time fractional nonlinear Whitham-Broer-Kaup equations, which we do not list in their entirety herein for simplicity.

## 4. EXACT SOLUTION FOR THE SPACE-TIME FRACTIONAL GENERALIZED NONLINEAR HIROTA-SATSUMA COUPLED KDV EQUATIONS

Space-time fractional generalized Hirota-Satsuma coupled KdV equations are well-known [21], and have the following forms:

(4.1) 
$$D_t^{\alpha}g - \frac{1}{2}D_x^{3\alpha}g + 3gD_x^{\alpha}g - 3D_x^{\alpha}(hw) = 0,$$

(4.2) 
$$D_t^{\alpha}h + D_x^{3\alpha}h - 3gD_x^{\alpha}h = 0,$$

$$(4.3) D_t^{\alpha}w + D_x^{3\alpha}w - 3gD_x^{\alpha}w = 0,$$

where  $0 < \alpha \leq 1, g, h$  and w are the functions of (x, t).

By considering the traveling wave transformation, we have the following:

(4.4) 
$$g(x,t) = G(\xi), \ h(x,t) = H(\xi), \ w(x,t) = W(\xi), \ \xi = \left(\frac{k_1}{\alpha}\right)x^{\alpha} + \left(\frac{k_2}{\alpha}\right)t^{\alpha},$$

Eqs. (4.1), (4.2), and (4.3) can be reduced to the following nonlinear fractional ordinary differential equations:

(4.5) 
$$k_2 D_{\xi}^{\alpha} G - \frac{1}{2} k_1^3 D_{\xi}^{3\alpha} G + 3k_1 G D_{\xi}^{\alpha} G - 3k_1 W D_{\xi}^{\alpha} H - 3k_1 H D_{\xi}^{\alpha} W = 0,$$

(4.6) 
$$k_2 D_{\xi}^{\alpha} H + k_1^3 D_{\xi}^{3\alpha} H - 3k_1 G D_{\xi}^{\alpha} H = 0,$$

(4.7) 
$$k_2 D_{\xi}^{\alpha} W + k_1^3 D_{\xi}^{3\alpha} W - 3k_1 G D_{\xi}^{\alpha} W = 0,$$

By balancing the highest-order derivative and nonlinear terms in the previous equations, we have the following formal solutions:

(4.8) 
$$G(\xi) = \alpha_0 + \alpha_1 \exp(\phi(\xi)) + \alpha_2 \exp(-\phi(\xi)) + \alpha_3 \exp(2\phi(\xi)) + \alpha_4 \exp(-2\phi(\xi)),$$

(4.9) 
$$H(\xi) = \beta_0 + \beta_1 \exp(\phi(\xi)) + \beta_2 \exp(-\phi(\xi)) + \beta_3 \exp(2\phi(\xi)) + \beta_4 \exp(-2\phi(\xi)),$$

(4.10) 
$$W(\xi) = \gamma_0 + \gamma_1 \exp(\phi(\xi)) + \gamma_2 \exp(-\phi(\xi)) + \gamma_3 \exp(2\phi(\xi)) + \gamma_4 \exp(-2\phi(\xi))$$
,

where  $\alpha_i, \beta_i, \gamma_i (i = 0, 1, 2, 3, 4)$  are constants to be determined later. Substituting (4.8), (4.9), and (4.10) along with Eq. (2.8) into Eqs. (4.5), (4.6), and (4.7), all of the terms with the same power of  $(\exp(-\phi(\xi)))^i$ ,  $(i = 0, \pm 1, \pm 2, ...)$  are collected. Setting all coefficients of  $(\exp(-\phi(\xi)))^i$ ,  $(i = 0, \pm 1, \pm 2, ...)$  to zero, we can obtain a set of algebraic equations for  $\alpha_i, \beta_i, \gamma_i (i = 0, 1, 2, 3, 4), k_1$  and  $k_2$ . Solving these algebraic equations using Maple, we have the following cases:

Case 1

$$\begin{cases}
\alpha_{0} = \frac{k_{2} + k_{1}^{3} \left(\lambda^{2} + 8\mu\right)}{3k_{1}}, \alpha_{1} = 2\lambda\mu k_{1}^{2}, \alpha_{2} = 2\lambda k_{1}^{2}, \alpha_{3} = 2\mu^{2}k_{1}^{2}, \alpha_{4} = 2k_{1}^{2}, \\
\beta_{0} = \frac{k_{1}\mu \left(\gamma_{1}\lambda k_{1}^{3} \left(\lambda^{2} + 20\mu\right) - \gamma_{0}\mu k_{1}^{3} \left(\lambda^{2} + 8\mu\right) - 4k_{2}(\gamma_{0}\mu - \gamma_{1}\lambda)\right)}{3\gamma_{1}^{2}}, \beta_{1} = \mu\beta_{2}, \beta_{2} = \frac{k_{1}\mu \left(4k_{2} + k_{1}^{3} \left(\lambda^{2} + 8\mu\right)\right)}{3\gamma_{1}} \\
\beta_{3} = 0, \beta_{4} = 0, \gamma_{0} = \gamma_{0}, \gamma_{1} = \gamma_{1}, \gamma_{2} = \frac{\gamma_{1}}{\mu}, \gamma_{3} = 0, \gamma_{4} = 0, k_{1} = k_{1}, k_{2} = k_{2},
\end{cases}$$

Substituting (4.11) into Eqs. (4.8), (4.9), and (4.10), we have the following:

$$\begin{cases}
(4.12) \\
G(\xi) = \left( \frac{k_2 + k_1^3 (\lambda^2 + 8\mu)}{3k_1} + 2\lambda k_1^2 (\mu \exp(\phi(\xi)) + \exp(-\phi(\xi))) + 2k_1^2 (\mu^2 \exp(2\phi(\xi)) + \exp(-2\phi(\xi))) \right), \\
H(\xi) = \left( \frac{k_1 \mu (\gamma_1 \lambda k_1^3 (\lambda^2 + 20\mu) - \gamma_0 \mu k_1^3 (\lambda^2 + 8\mu) - 4k_2 (\gamma_0 \mu - \gamma_1 \lambda))}{3\gamma_1^2} \right) \\
+ \frac{k_1 \mu (4k_2 + k_1^3 (\lambda^2 + 8\mu))}{3\gamma_1} (\mu \exp(\phi(\xi)) + \exp(-\phi(\xi))) , \\
W(\xi) = \gamma_0 + \gamma_1 \exp(\phi(\xi)) + \frac{\gamma_1}{\mu} \exp(-\phi(\xi)), \\
\xi = \left(\frac{k_1}{\alpha}\right) x^{\alpha} + \left(\frac{k_2}{\alpha}\right) t^{\alpha}.
\end{cases}$$

Case 2

(4.13) 
$$\begin{cases} \alpha_0 = \frac{k_2 + k_1^3 \left(\lambda^2 + 8\mu\right)}{3k_1}, \alpha_1 = 4\lambda\mu k_1^2, \alpha_2 = 0, \alpha_3 = 4\mu^2 k_1^2, \alpha_4 = 0, \\ \beta_0 = \beta_0, \beta_1 = \frac{\lambda\beta_3}{\mu}, \beta_2 = 0, \beta_3 = \beta_3, \beta_4 = 0, k_1 = k_1, k_2 = k_2, \\ \gamma_0 = \frac{2k_1\mu^2 \left(\beta_3 k_1^3 \left(\lambda^2 + 8\mu\right) + 4\beta_3 k_2 - 6\beta_0 k_1^3 \mu^2\right)}{3\beta_3^3}, \gamma_1 = \frac{4\lambda\mu^3 k_1^4}{\beta_3}, \gamma_2 = 0, \gamma_3 = \frac{4\mu^4 k_1^4}{\beta_3}, \gamma_4 = 0. \end{cases}$$

Substituting (4.13) into Eqs. (4.8), (4.9), and (4.10), the following is derived:

$$\begin{cases} (4.14) \\ G\left(\xi\right) = \frac{k_2 + k_1^3 \left(\lambda^2 + 8\mu\right)}{3k_1} + 4\lambda\mu k_1^2 \exp\left(\phi\left(\xi\right)\right) + 4\mu^2 k_1^2 \exp\left(2\phi\left(\xi\right)\right), \\ H\left(\xi\right) = \beta_0 + \frac{\lambda\beta_3}{\mu} \exp\left(\phi\left(\xi\right)\right) + \beta_3 \exp\left(2\phi\left(\xi\right)\right), \\ W\left(\xi\right) = \frac{2k_1\mu^2 \left(\beta_3 k_1^3 \left(\lambda^2 + 8\mu\right) + 4\beta_3 k_2 - 6\beta_0 k_1^3 \mu^2\right)}{3\beta_3^3} + \frac{4\lambda\mu^3 k_1^4}{\beta_3} \exp\left(\phi\left(\xi\right)\right) + \frac{4\mu^4 k_1^4}{\beta_3} \exp\left(2\phi\left(\xi\right)\right), \\ \xi = \left(\frac{k_1}{\alpha}\right) x^\alpha + \left(\frac{k_2}{\alpha}\right) t^\alpha. \end{cases}$$

Case 3

$$\begin{cases}
\alpha_{0} = \frac{k_{2} + k_{1}^{3} \left(\lambda^{2} + 2\mu\right)}{3k_{1}}, \alpha_{1} = 2\lambda\mu k_{1}^{2}, \alpha_{2} = 0, \alpha_{3} = 2\mu^{2}k_{1}^{2}, \alpha_{4} = 0, \\
\beta_{0} = \frac{k_{1}\mu(\lambda\gamma_{1} - \mu\gamma_{0})\left(4k_{2} + k_{1}^{3}\left(\lambda^{2} - 4\mu\right)\right)}{3\gamma_{1}^{2}}, \beta_{1} = \frac{k_{1}\mu^{2}\left(4k_{2} + k_{1}^{3}\left(\lambda^{2} - 4\mu\right)\right)}{3\gamma_{1}}, \beta_{2} = 0, \beta_{3} = 0, \beta_{4} = 0, \\
\gamma_{0} = \gamma_{0}, \gamma_{1} = \gamma_{1}, \gamma_{2} = 0, \gamma_{3} = 0, \gamma_{4} = 0, k_{1} = k_{1}, k_{2} = k_{2}.
\end{cases}$$

Substituting (4.15) into Eqs. (4.8), (4.9), and (4.10), results in the following:

(4.16) 
$$\begin{cases} G\left(\xi\right) = \frac{k_2 + k_1^3\left(\lambda^2 + 2\mu\right)}{3k_1} + 2\lambda\mu k_1^2 \exp\left(\phi\left(\xi\right)\right) + 2\mu^2 k_1^2 \exp\left(2\phi\left(\xi\right)\right), \\ H\left(\xi\right) = \frac{k_1\mu(\lambda\gamma_1 - \mu\gamma_0)\left(4k_2 + k_1^3\left(\lambda^2 - 4\mu\right)\right)}{3\gamma_1^2} + \frac{k_1\mu^2\left(4k_2 + k_1^3\left(\lambda^2 - 4\mu\right)\right)}{3\gamma_1} \exp\left(\phi\left(\xi\right)\right), \\ W\left(\xi\right) = \gamma_0 + \gamma_1 \exp\left(\phi\left(\xi\right)\right), \\ \xi = \left(\frac{k_1}{\alpha}\right)x^\alpha + \left(\frac{k_2}{\alpha}\right)t^\alpha. \end{cases}$$

Case 4

(4.17) 
$$\begin{cases} \alpha_0 = \frac{k_2 + k_1^3 (\lambda^2 + 2\mu)}{3k_1}, \alpha_1 = 0, \alpha_2 = 2\lambda k_1^2, \alpha_3 = 0, \alpha_4 = 2k_1^2, \\ \beta_0 = \beta_0, \beta_1 = 0, \beta_2 = \beta_2, \beta_3 = 0, \beta_4 = 0, k_1 = k_1, k_2 = k_2, \\ \gamma_0 = \frac{k_1 (\lambda \beta_2 - \beta_0) (4k_2 + k_1^3 (\lambda^2 - 4\mu))}{3\beta_2^2}, \gamma_1 = 0, \gamma_2 = \frac{4k_1 k_2 + k_1^4 (\lambda^2 - 4\mu)}{3\beta_2}, \gamma_3 = 0, \gamma_4 = 0. \end{cases}$$

Substituting (4.17) into Eqs. (4.8), (4.9), and (4.10), gives us the following:

(4.18)  
$$\begin{cases} G\left(\xi\right) = \frac{k_2 + k_1^3\left(\lambda^2 + 2\mu\right)}{3k_1} + 2\lambda k_1^2 \exp\left(-\phi\left(\xi\right)\right) + 2k_1^2 \exp\left(-2\phi\left(\xi\right)\right), \\ H\left(\xi\right) = \beta_0 + \beta_2 \exp\left(-\phi\left(\xi\right)\right), \\ W\left(\xi\right) = \frac{k_1(\lambda\beta_2 - \beta_0)\left(4k_2 + k_1^3\left(\lambda^2 - 4\mu\right)\right)}{3\beta_2^2} + \frac{4k_1k_2 + k_1^4\left(\lambda^2 - 4\mu\right)}{3\beta_2} \exp\left(-\phi\left(\xi\right)\right), \\ \xi = \left(\frac{k_1}{\alpha}\right) x^\alpha + \left(\frac{k_2}{\alpha}\right) t^\alpha. \end{cases}$$

**Case should 5** 

(4.19) 
$$\begin{cases} \alpha_0 = \frac{k_2 + k_1^3 \left(\lambda^2 + 8\mu\right)}{3k_1}, \alpha_1 = 0, \alpha_2 = 4\lambda k_1^2, \alpha_3 = 0, \alpha_4 = 4k_1^2, \\ \beta_0 = \beta_0, \beta_1 = 0, \beta_2 = \beta_2, \beta_3 = 0, \beta_4 = \frac{\beta_2}{\lambda}, k_1 = k_1, k_2 = k_2, \\ \gamma_0 = \frac{2\lambda k_1 \left(\beta_2 k_1^3 \left(\lambda^2 + 8\mu\right) + 4\beta_2 k_2 - 6\beta_0 \lambda k_1^3\right)}{3\beta_2^2}, \gamma_1 = 0, \gamma_2 = \frac{4\lambda^2 k_1^4}{\beta_2}, \gamma_3 = 0, \gamma_4 = \frac{4\lambda k_1^4}{\beta_2}. \end{cases}$$

Substituting (4.19) into Eqs. (4.8), (4.9), and (4.10), we have the following:

$$\begin{cases}
(4.20) \\
G\left(\xi\right) = \frac{k_2 + k_1^3 \left(\lambda^2 + 8\mu\right)}{3k_1} + 4\lambda k_1^2 \exp\left(-\phi\left(\xi\right)\right) + 4k_1^2 \exp\left(-2\phi\left(\xi\right)\right), \\
H\left(\xi\right) = \beta_0 + \beta_2 \exp\left(-\phi\left(\xi\right)\right) + \frac{\beta_2}{\lambda} \exp\left(-2\phi\left(\xi\right)\right), \\
W\left(\xi\right) = \frac{2\lambda k_1 \left(\beta_2 k_1^3 \left(\lambda^2 + 8\mu\right) + 4\beta_2 k_2 - 6\beta_0 \lambda k_1^3\right)}{3\beta_2^2} + \frac{4\lambda^2 k_1^4}{\beta_2} \exp\left(-\phi\left(\xi\right)\right) + \frac{4\lambda k_1^4}{\beta_2} \exp\left(-2\phi\left(\xi\right)\right), \\
\xi = \left(\frac{k_1}{\alpha}\right) x^{\alpha} + \left(\frac{k_2}{\alpha}\right) t^{\alpha}.
\end{cases}$$

Using (4.12) and the solutions to Eq. (2.8), we can find the following exact solutions to the space–time fractional generalized nonlinear Hirota–Satsuma coupled KdV equations:

Family 1. When  $\mu \neq 0, (\lambda^2 - 4\mu) > 0$ ,

$$(4.21) \left\{ \begin{array}{l} H_{1}\left(\xi\right) = \begin{pmatrix} \left(\frac{k_{2}+k_{1}^{2}\left(\lambda^{2}+8\mu\right)}{3k_{1}}\right) \\ +2\lambda k_{1}^{2} \begin{pmatrix} \mu\left(\frac{-\lambda-\sqrt{\lambda^{2}-4\mu}\tanh\left(\frac{\left(\xi^{0}+\alpha c\right)\sqrt{\lambda^{2}-4\mu}}{2\alpha}\right)}{2\mu}\right) \\ +2k_{1}^{2} \begin{pmatrix} \mu^{2}\left(\frac{-\lambda-\sqrt{\lambda^{2}-4\mu}\tanh\left(\frac{\left(\xi^{0}+\alpha c\right)\sqrt{\lambda^{2}-4\mu}}{2\alpha}\right)}{2\mu}\right)^{2} \\ +2k_{1}^{2} \begin{pmatrix} \mu^{2}\left(\frac{-\lambda-\sqrt{\lambda^{2}-4\mu}\tanh\left(\frac{\left(\xi^{0}+\alpha c\right)\sqrt{\lambda^{2}-4\mu}}{2\alpha}\right)}{2\mu}\right)^{2} \\ +\left(\frac{2\mu}{-\lambda-\sqrt{\lambda^{2}-4\mu}\tanh\left(\frac{\left(\xi^{0}+\alpha c\right)\sqrt{\lambda^{2}-4\mu}}{2\alpha}\right)}{2\mu}\right)^{2} \end{pmatrix} \end{pmatrix} \end{pmatrix} \\ H_{1}\left(\xi\right) = \begin{pmatrix} \frac{k_{1}\mu\left(\gamma_{1}\lambda k_{1}^{2}\left(\lambda^{2}+20\mu\right)-\gamma_{0}\mu k_{1}^{2}\left(\lambda^{2}+8\mu\right)-4k_{2}\left(\gamma_{0}\mu-\gamma_{1}\lambda\right)\right)}{3\gamma_{1}^{2}} \\ +\frac{k_{1}\mu^{2}\left(4k_{2}+k_{1}^{2}\left(\lambda^{2}+8\mu\right)\right)}{3\gamma_{1}}\left(\frac{-\lambda-\sqrt{\lambda^{2}-4\mu}\tanh\left(\frac{\left(\xi^{0}+\alpha c\right)\sqrt{\lambda^{2}-4\mu}}{2\alpha}\right)}{2\mu}\right)}{2\mu}\right) \\ \end{pmatrix} \\ H_{1}\left(\xi\right) = \begin{pmatrix} \gamma_{0}+\gamma_{1}\left(\frac{-\lambda-\sqrt{\lambda^{2}-4\mu}\tanh\left(\frac{\left(\xi^{0}+\alpha c\right)\sqrt{\lambda^{2}-4\mu}}{2\alpha}\right)}{2\mu}\right) \\ +\frac{\gamma_{1}\mu}{2\mu}\left(\frac{-\lambda-\sqrt{\lambda^{2}-4\mu}\tanh\left(\frac{\left(\xi^{0}+\alpha c\right)\sqrt{\lambda^{2}-4\mu}}{2\alpha}\right)}{2\mu}\right)}{2\mu}\right) \\ \xi = \left(\frac{k_{1}}{\alpha}\right)x^{\alpha}+\left(\frac{k_{2}}{\alpha}\right)t^{\alpha}. \end{cases} \right\}$$

Family 2. When  $\mu \neq 0, (\lambda^2 - 4\mu) < 0$ ,

$$(4.22) \qquad \qquad \left\{ \begin{array}{l} H_{2}\left(\xi\right) = \begin{pmatrix} \left(\frac{k_{2}+k_{1}^{3}\left(\lambda^{2}+8\mu\right)}{3k_{1}}\right) \\ + 2\lambda k_{1}^{2} \left(\mu\left(\frac{-\lambda+\sqrt{4\mu-\lambda^{2}}\tan\left(\frac{\left(\xi^{\alpha}+\alpha\alpha\right)\sqrt{4\mu-\lambda^{2}}}{2\mu}\right)}{2\mu}\right) \\ + \left(\frac{2\mu}{-\lambda+\sqrt{4\mu-\lambda^{2}}\tan\left(\frac{\left(\xi^{\alpha}+\alpha\alpha\right)\sqrt{4\mu-\lambda^{2}}}{2\mu}\right)}{2\mu}\right)^{2} \\ + 2k_{1}^{2} \left(\mu^{2}\left(\frac{-\lambda+\sqrt{4\mu-\lambda^{2}}\tan\left(\frac{\left(\xi^{\alpha}+\alpha\alpha\right)\sqrt{4\mu-\lambda^{2}}}{2\alpha}\right)}{2\mu}\right)^{2} \\ + \left(\frac{2\mu}{-\lambda+\sqrt{4\mu-\lambda^{2}}\tan\left(\frac{\left(\xi^{\alpha}+\alpha\alpha\right)\sqrt{4\mu-\lambda^{2}}}{2\alpha}\right)}{2\mu}\right)^{2} \\ \end{pmatrix} \\ H_{2}\left(\xi\right) = \begin{pmatrix} \left(\frac{k_{1}\mu\left(\gamma_{1}\lambda k_{1}^{3}\left(\lambda^{2}+20\mu\right)-\gamma_{0}\mu k_{1}^{3}\left(\lambda^{2}+8\mu\right)-4k_{2}\left(\gamma_{0}\mu-\gamma_{1}\lambda\right)\right)}{3\gamma_{1}^{2}} \\ + \frac{k_{1}\mu^{2}\left(4k_{2}+k_{1}^{3}\left(\lambda^{2}+8\mu\right)\right)}{3\gamma_{1}}\left(\frac{-\lambda+\sqrt{4\mu-\lambda^{2}}\tan\left(\frac{\left(\xi^{\alpha}+\alpha\alpha\right)\sqrt{4\mu-\lambda^{2}}}{2\alpha}\right)}{2\mu}\right) \\ + \frac{k_{1}\mu\left(4k_{2}+k_{1}^{3}\left(\lambda^{2}+8\mu\right)\right)}{3\gamma_{1}}\left(\frac{-\lambda+\sqrt{4\mu-\lambda^{2}}\tan\left(\frac{\left(\xi^{\alpha}+\alpha\alpha\right)\sqrt{4\mu-\lambda^{2}}}{2\alpha}}{2\mu}\right)\right) \\ \end{pmatrix} \\ \\ W_{2}\left(\xi\right) = \begin{pmatrix} \gamma_{0}+\gamma_{1}\left(\frac{-\lambda+\sqrt{4\mu-\lambda^{2}}\tan\left(\frac{\left(\xi^{\alpha}+\alpha\alpha\right)\sqrt{4\mu-\lambda^{2}}}{2\alpha}\right)}{2\mu}\right) \\ + \frac{\gamma_{1}}{\mu}\left(\frac{-\lambda+\sqrt{4\mu-\lambda^{2}}\tan\left(\frac{\left(\xi^{\alpha}+\alpha\alpha\right)\sqrt{4\mu-\lambda^{2}}}{2\alpha}\right)}{2\mu}\right) \\ \end{pmatrix} \\ \\ \xi = \left(\frac{k_{1}}{\alpha}\right)x^{\alpha} + \left(\frac{k_{2}}{2}\right)t^{\alpha}. \end{cases}$$

Family 3. When  $\mu \neq 0, \lambda \neq 0, (\lambda^2 - 4\mu) = 0,$ (4.23)

$$\begin{cases} G_{3}\left(\xi\right) = \begin{pmatrix} \frac{k_{2}+k_{1}^{3}\left(\lambda^{2}+8\mu\right)}{3k_{1}}+2\lambda k_{1}^{2}\left(\mu\left(-\frac{2}{\lambda}-\frac{4\alpha}{\lambda^{2}(\xi^{\alpha}+\alpha c)}\right)+\left(-\frac{2}{\lambda}-\frac{4\alpha}{\lambda^{2}(\xi^{\alpha}+\alpha c)}\right)^{-1}\right)\\ +2k_{1}^{2}\left(\mu^{2}\left(-\frac{2}{\lambda}-\frac{4\alpha}{\lambda^{2}(\xi^{\alpha}+\alpha c)}\right)^{2}+\left(-\frac{2}{\lambda}-\frac{4\alpha}{\lambda^{2}(\xi^{\alpha}+\alpha c)}\right)^{-2}\right)\\ \end{pmatrix},\\ H_{3}\left(\xi\right) = \begin{pmatrix} \left(\frac{k_{1}\mu\left(\gamma_{1}\lambda k_{1}^{3}\left(\lambda^{2}+20\mu\right)-\gamma_{0}\mu k_{1}^{3}\left(\lambda^{2}+8\mu\right)-4k_{2}(\gamma_{0}\mu-\gamma_{1}\lambda)\right)}{3\gamma_{1}^{2}}\right)\\ +\frac{k_{1}\mu^{2}\left(4k_{2}+k_{1}^{3}\left(\lambda^{2}+8\mu\right)\right)}{3\gamma_{1}}\left(-\frac{2}{\lambda}-\frac{4\alpha}{\lambda^{2}(\xi^{\alpha}+\alpha c)}\right)^{-1}\\ +\frac{k_{1}\mu\left(4k_{2}+k_{1}^{3}\left(\lambda^{2}+8\mu\right)\right)}{3\gamma_{1}}\left(-\frac{2}{\lambda}-\frac{4\alpha}{\lambda^{2}(\xi^{\alpha}+\alpha c)}\right)^{-1}\\ W_{3}\left(\xi\right) = \gamma_{0}+\gamma_{1}\left(-\frac{2}{\lambda}-\frac{4\alpha}{\lambda^{2}(\xi^{\alpha}+\alpha c)}\right)+\frac{\gamma_{1}}{\mu}\left(-\frac{2}{\lambda}-\frac{4\alpha}{\lambda^{2}(\xi^{\alpha}+\alpha c)}\right)^{-1},\\ \xi = \left(\frac{k_{1}}{\alpha}\right)x^{\alpha}+\left(\frac{k_{2}}{\alpha}\right)t^{\alpha}. \end{cases}$$

Similarly, using formulas (4.14), (4.16), (4.18), and (4.20), we can obtain a greater set of solutions to the space–time fractional generalized nonlinear Hirota–Satsuma coupled KdV equations.

#### 5. CONCLUSION

In this study, the fractional  $\exp(-\phi(\xi))$  – expansion method was successfully applied to solve the space-time fractional nonlinear Whitham-Broer-Kaup equations and space-time fractional generalized nonlinear Hirota-Satsuma coupled KdV equations. We obtained several useful solutions for both equations, which can be used in practical applications. Previous applications have shown that the proposed method is effective and has the ability to demonstrate various forms of solutions. In addition, we are confident of its ability to find solutions to numerous nonlinear fractional partial differential equations in mathematical physics.

#### REFERENCES

- [1] M. WANG, X. LI, and J.ZHANG, The  $\begin{pmatrix} \dot{G} \\ G \end{pmatrix}$  expansion method and travelling wave solutions of nonlinear evolution equations in mathematical physics, *Physics Letters A*, **372** (2008), pp. 417–423.
- [2] MOHAMMAD ALI BASHIR and ALAAEDDIN AMIN MOUSSA, New Approach of  $\begin{pmatrix} \dot{G} \\ G \end{pmatrix}$  Expansion Method. Applications to KdV Equation, *Journal of Mathematics Research*, **6** (2014), pp. 24–31.
- [3] A. A. MOUSSA, I. M. E. ABDELSTAR, A. K. OSMAN and L. A. ALHAKIM, The Double Auxiliary Equations Method and its Application to Some Nonlinear Evolution Equations, *Asian Research Journal of Mathematics*, 13 (2019), pp. 1–11.
- [4] L. A. ALHAKIM, A. A. MOUSSA, The double auxiliary equations method and its application to space-time fractional nonlinear equations, *Journal of Ocean Engineering and Science*, 4 (2019), pp.7–13.

- [5] MOHAMMAD ALI BASHIR, ALAAEDDIN AMIN MOUSSA and LAMA ABDULAZIZ AL-HAKIM, The new generalized of  $\exp(-\phi(\xi))$  expansion method and its application to some complex nonlinear partial differential equation, *Journal of advanced in Mathematics*, **9**(2015), pp. 2905–2926.
- [6] KHALIL HASSAN YAHYA and ZELAL AMIN MOUSSA, New approach of generalized  $\exp(-\phi(\xi))$  expansion method and its application to some nonlinear partial differential equation, *Journal of Mathematics research*, **7** (2015), pp. 106–121.
- [7] MOHAMMAD ALI BASHIR and ALAAEDDIN AMIN MOUSSA, The  $coth_a(\xi)$ Expansion Method and its Application to the Davey-Stewartson Equation, *Applied Mathematical Sciences*, **8** (2014), pp. 3851–3868.
- [8] MOHAMMAD ALI BASHIR and LAMA ABDULAZIZ ALHAKIM, New F Expansion method and its applications to Modified KdV equation, *Journal of Mathematics Research*, 5 (2013), pp. 38– 94.
- [9] M.A. ABDOU, The extended F-expansion method and its application for a class of nonlinear evolution equations, *Chaos. Solitons and Fractals*, **31** (2007), pp. 95–104.
- [10] H. T. CHEN and H. Q. ZHANG, Improved Jacobin elliptic method and its applications, *Chaos. Solitons and Fractals*, **15** (2003), pp. 585–591.
- [11] M. MIRZAZADEH and S. KHALEGHIZADEH, Modification of truncated expansion method to some complex nonlinear partial differential equations, *Acta Universitatis Apulensis*, **33** (2013), pp. 109–116.
- [12] S. K. LIU, Z. T. FU, S. D. LIU, and Q. ZHAO, Jacobi elliptic function expansion method and periodic wave solutions of non linear wave equations, *Physics Letters A*, **289** (2001), pp. 69–74.
- [13] S. ZHANG and H.Q. ZHANG, Fractional sub-equation method and its applications to nonlinear fractional PDEs, *Physics Letters A*, **375** (2011), pp. 1069–1073.
- [14] GANG WEI WANGI and TIAN ZHOU XU, The modified fractional sub-equation method and its applications to nonlinear fractional partial differential equations, *Oom. Journ. Phys*, **59** (2014), pp. 636–645.
- [15] G. JUMARIE, Modified Riemann-Liouville derivative and fractional taylor series of nondifferentiable functions further results, *Comput. Math. Appl*, **51**(2006), pp. 1367–1376.
- [16] G. JUMARIE, Cauchy's integral formula via the modified Riemann-Liouville derivative for analytic functions of fractional order, *Applied Mathematics Letters*, 23(2010), pp. 1444–1450.
- [17] G. JUMARIE, Table of some basic fractional calculus formulae derived from a modified Riemann-Lioville derivative for non-differentiable functions, *Applied Mathematics Letters*, 22 (2009), pp. 378-385.
- [18] CHENG-SHI LIU, Counterexamples on Jumarie's two basic fractional calculus formulae, Commun Nonlinear Sci Numer Simulat, 22 (2015), pp. 92–94.
- [19] CHENG-SHI LIU, Counterexamples on Jumarie's three basic fractional calculus formulae for nondifferentiable continuous functions, *Chaos, Solitons & Fractals*, **109** (2018), pp. 219–222.
- [20] UDITA N. KATUGAMPOLA, A new fractional derivative with classical properties, *Journal of the American mathematical society*, **2** (2014), pp. 1–8.
- [21] ELSAYED M.E. ZAYED, YASSER A. AMER, REHAM M.A. SHOHIB, The fractional complex transformation for nonlinear fractional partial differential equations in the mathematical physics, *Journal of the Association of Arab Universities for Basic and Applied Sciences*, **19** (2016), pp. 59–69.